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。

（１）
ÁZ�;W4

，
R

RJ2Jf

Ａ＝ Ａ２１＋Ａ槡
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ｔ
HI

，ｘ１aｘ２>/0t�5:�gJ

Δφ＝φ１－φ２＝（ｂｔ－ｃｘ１）－（ｂｔ－ｃｘ２）＝－ｃ（ｘ１－ｘ２）
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$�sa��

ｙ
�ªb¶&Jθ> [ÜQ�

ｄｌ，
~�·±W

ｄｑ＝ｑ
πＲ
ｄｌ＝ｑ
πＲ
Ｒｄθ＝ｑπ

ｄθ

60±²³�´[

Ｅ→ ＝ ｑ
４πε０ｒ

２ｒ
→
０R：±²�

ｄｑ
$s¸

Ｏ
0>¹D5³�J

ｄＥ＝ ｄｑ
４πε０Ｒ

２＝
ｑ

４π２ε０Ｒ
２ｄθ，@b34

67�sa�vU±²�

ｄｑ
$s¸

Ｏ
0¹D5³�@b®�È

，
G�

ｄＥ→
V'()]ú

ｄＥｙ＝ｄＥｃｏｓθ＝
ｑ

４π２ε０Ｒ
２ｃｏｓθｄθ

ｄＥｘ＝ｄＥｓｉｎθ＝
ｑ

４π２ε０Ｒ
２ｓｉｎθｄθ

V�ö[�]R

Ｅｙ ＝∫ｄＥｃｏｓθ＝∫
π

０

ｑ
４π２ε０Ｒ

２ｃｏｓθｄθ＝０

Ｅｘ ＝∫ｄＥｓｉｎθ＝∫
π

０

ｑ
４π２ε０Ｒ

２ｓｉｎθｄθ＝
ｑ

２π２ε０Ｒ
２

6

Ｅ→ ＝Ｅ→ｘ＋Ｅ
→
ｙR

　　Ｅ→ ＝Ｅ→ｘ＋Ｅ
→
ｙ＝

ｑ
２π２ε０Ｒ

２ｉ
→
，
@b{

ｘ
�ªb

!")3*

　
ABC

（
)

）

１．±πＲ２Ｅ
２．（１）̧

}

Ｐ
0

，
y%�J�

、
ÜJ

ｌ
5º¬s»¢

。

（２）̧
}

Ｐ
05È¸�¢

。

４１

!"#$%&'()*+



３．Ｄ
４．Ｃ
５．

=£¼n»CD

。

67±²]½5�V¾.

，
<9·±s»¢¹D5±³\j³�V¾.

，
×´s»¢��¿%M´

��5Ç0³�q���

，
@be¿%7s»¢

。

}³0Á£J

ｌ、
À¢�ÁJ

ｒ
5È�º¬s»¢J£¼¢

。
|}£¼¢öÀ¢5±|WJ

０，
Eö

À¢�5vU¢�5@b�¢�>³�5@b¿%

，
mÂ¢�5vU¢�

ｄＳ→
5@b

ｎ→
Ã�¢�>³�

Ｅ→
5@b�È

，
%Â¢�Ç0³�q���

，
G|}£¼¢5±|WJ

∮ＳＥ→·ｄＳ→ ＝∫Ｓ
Â

Ｅ→·ｄＳ→ ＝∫Ｓ
Â

Ｅ·ｄＳｃｏｓ０°＝Ｅ∫Ｓ
Â

ｄＳ＝Ｅ２πｒｌ

（１）
c

ｒ＜Ｒ１H，É£¼¢Äi5±WJ∑ｑ＝０，6£¼n»∮ＳＥ→·ｄＳ→ ＝∑
ｑ
ε０
，
R

Ｅ２πｒｌ＝０ε０
，Ｅ＝０

（２）
c

Ｒ１＜ｒ＜Ｒ２H，É£¼¢Äi5±WJ∑ｑ＝λｌ，6£¼n»R

Ｅ２πｒｌ＝λｌε０
，Ｅ＝ λ

２πε０ｒ
，
@b¿%7��bå

（３）
c

ｒ＞Ｒ２H，É£¼¢Äi5±WJ∑ｑ＝０，6£¼n»R

Ｅ２πｒｌ＝０ε０
，Ｅ＝０

!")3+

　
ABC

（
*

）

１．
ｑ１－ｑ２
２πε０Ｒ

，
－ｑ１ｑ２
４πε０Ｒ

２．Ｒ
３ρ
３ε０

１
ｄ＋ｒ－

１( )ｒ
３．Ａ
４．Ａ
５．（１）

Å34�_'(

，
$ÆÇ�M

Ｏ
0

ｘ
>v [ÜQ�

ｄｘ，
~·±W

ｄｑ＝
ｑ
Ｌ
ｄｘ。

60±²5±;´[

Ｕ＝
ｑ

４πε０ｒ
R

：ｄｑ
$

Ｐ
05±;J

ｄＵＰ＝
ｄｑ

４πε０（Ｌ＋ｒ－ｘ）
＝

ｑｄｘ
４πε０Ｌ（Ｌ＋ｒ－ｘ）

6±;µS9»R

ＵＰ ＝∫ｄＵＰ ＝∫
Ｌ

０

ｑｄｘ
４πε０Ｌ（Ｌ＋ｒ－ｘ）

＝
ｑ

４πε０Ｌ
ｌｎｒ＋Ｌｒ

（２）
È»

，ＵＱ＝
ｑ

４πε０Ｌ
ｌｎ３ｒ＋Ｌ３ｒ

±²

ｑ０�ＰM�

Ｑ
0

，
~±;é5�WJ

ΔＷ＝ＷＱ－ＷＰ＝ｑ０ＵＱ－ｑ０ＵＰ＝
ｑｑ０
４πε０Ｌ

ｌｎ ３ｒ＋Ｌ３（ｒ＋Ｌ）

�=±³§ïë�±;é5�)9

：Ａ＝－ΔＷ＝
ｑｑ０
４πε０Ｌ

ｌｎ３（ｒ＋Ｌ）３ｒ＋Ｌ
５１

!"#$%&'()*+



!")3,

　
ABCDE9FBGH

（
#

）

１．３８Ｆ，
４
９Ｆ

２．
σ０
２－ε０Ｅ０， Ｅ０－

σ０
２ε( )
０
ｉ→

３．Ｂ
４．Ａ
５．（１）

�±NLH

，
±²]½34�_

。

�=£¼n»∮ＳＥ→·ｄＳ→ ＝∑
ｑ
ε０

R³�]½J

：

c

ｒ＜Ｒ
H

，Ｅ＝０；

c

Ｒ＜ｒ＜Ｒ１H，Ｅ＝
ｑ

４πε０ｒ
２
，
@b{�Ábå

；

c

Ｒ１＜ｒ＜Ｒ２H，Ｅ＝０；

c

ｒ＞Ｒ２H，Ｅ＝
ｑ＋Ｑ

４πε０ｒ
２
，
@b{�Ábå

。

�=³��±;5�)

Ｕ＝∫
∞

Ｐ
Ｅ→·ｄｌ→

CDR�a�È5±;]/J

（
 {�Ábå5ºÁJ�]º

Á

，
$ÉºÁ�M�¸

ｒ
> ÜQ�

ｄｒ→，
~@b{�Ábå

）

Ｕ
�

＝∫
∞

ｒ
Ｅ→·ｄｌ→ ＝∫

∞

ｒ
Ｅ→·ｄｒ→ ＝∫

∞

ｒ
Ｅｄｒｃｏｓ０°＝∫

Ｒ

ｒ
Ｅｄｒ＋∫

Ｒ１

Ｒ
Ｅｄｒ＋∫

Ｒ２

Ｒ１
Ｅｄｒ＋∫

∞

Ｒ２
Ｅｄｒ

＝０＋
ｑ

４πε０Ｒ
－

ｑ
４πε０Ｒ

( )
１

＋０＋
ｑ＋Ｑ
４πε０Ｒ２

＝
ｑ
４πε０

１
Ｒ－

１
Ｒ( )
１
＋
ｑ＋Ｑ
４πε０Ｒ２

pTUst

：
J§¨h]Õ�]

？
E

Ｅ
5]½®È

。

Ｕ
�È

＝∫
∞

ｒ
Ｅ→·ｄｌ→ ＝∫

Ｒ２

ｒ
Ｅ→·ｄｌ→ ＋∫

∞

Ｒ２
Ｅ→·ｄｌ→ ＝０＋

ｑ＋Ｑ
４πε０Ｒ２

＝
ｑ＋Ｑ
４πε０Ｒ２

�a�È5±;gΔＵ＝ ｑ
４πε０

１
Ｒ－

１
Ｒ( )
１

（２）
�È©¡H

，
�a�Èt�³�]½®µ

，
�y±;g®µ

。

（３）
É=?�Ê©

，
GökJ�;.

，
±;gΔＵ＝０。

!")3/

　
ABCDE9FBGH

（
)

）

１．２，１．６

２．
ε０εｒ１εｒ２Ｕ
εｒ２ｄ１＋εｒ１ｄ２

，０

３．Ｃ
４．Ａ

５．
6£¼n»∮ＳＥ→·ｄＳ→ ＝

ｑ
ε０εｒ

，
<R³�]½J

：

c

ｒ＜Ｒ
H

，Ｅ＝０；

c

Ｒ＜ｒ＜Ｒ＋ｄ
H

，Ｅ＝
ｑ

４πε０εｒｒ
２
，
@b{�Ábå

；

c

ｒ＞Ｒ＋ｄ
H

，Ｅ＝
ｑ

４πε０ｒ
２
；
@b{�Ábå

。

６１
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6

Ｕ＝∫
∞

Ｐ
Ｅ→·ｄｌ→，

<R±;]½J

：

c

ｒ＜Ｒ
H

，

　　　　　Ｕ＝∫
∞

ｒ
Ｅ→·ｄｌ→ ＝∫

∞

ｒ
Ｅ→·ｄｒ→ ＝∫

∞

ｒ
Ｅｄｒｃｏｓ０°

＝∫
Ｒ

ｒ
Ｅｄｒ＋∫

Ｒ＋ｄ

Ｒ
Ｅｄｒ＋∫

∞

Ｒ＋ｄ
Ｅｄｒ

＝ ｑ
４πε０εｒ

１
Ｒ－

１( )Ｒ＋ｄ
＋ ｑ
４πε０（Ｒ＋ｄ）

c

Ｒ＜ｒ＜Ｒ＋ｄ
H

，

Ｕ＝∫
∞

ｒ
Ｅ→·ｄｌ→ ＝∫

Ｒ＋ｄ

ｒ
Ｅｄｒ＋∫

∞

Ｒ＋ｄ
Ｅｄｒ＝ ｑ

４πε０εｒ
１
ｒ－

１( )Ｒ＋ｄ
＋ ｑ
４πε０（Ｒ＋ｄ）

c

ｒ＞Ｒ＋ｄ
H

，

Ｕ＝∫
∞

ｒ
Ｅ→·ｄｌ→ ＝∫

∞

ｒ
Ｅｄｒ＝ ｑ

４πε０ｒ

!")30

　
IJKC

（
#

）

１．
μ０Ｉ
４Ｒ，¿%7Ë¢bÌ

２．
μ０Ｉａ
２π
ｌｎｄ＋ｂｄ

３．Ｃ
４．Ｄ

５．
æ�=ÍÎ

－
ÏÐªnâ

ｄＢ→ ＝
μ０
４π
Ｉｄｌ→×ｒ→０
ｒ２

]/CD

ＡＢ、ＢＣＤ、ＤＥ
ÔÕÑÒ?�$

Ｏ
0>5ÓÔ

ß�Q

。

V

ＡＢ
ÑÒ?�

：Ｂ→ＡＢ＝
μ０Ｉ
４πＲ
ｋ→

V

ＢＣＤ
ÑÒ?�

：Ｂ→ＢＣＤ＝
μ０Ｉ
４Ｒｋ

→

V

ＤＥ
ÑÒ?�

：Ｂ→ＤＥ＝
μ０Ｉ
４πＲ

ｊ→

��=µS9»R

Ｏ
0>5ÓÔß�Q

。

Ｂ→ ＝Ｂ→ＡＢ＋Ｂ
→
ＢＣＤ＋Ｂ

→
ＤＥ＝

μ０Ｉ
４πＲ

ｊ→＋ μ０Ｉ
４πＲ

＋
μ０Ｉ
４( )Ｒ ｋ→

!")31

　
IJKC

（
)

）

１．
μ０Ｉｒ
２πＲ２

，
μ０Ｉ
２πｒ

２．μ０（Ｉ１－Ｉ２），μ０Ｉ２
３．Ｄ
４．Ｃ
５．

=ÕÖ ºn»aµS9»CD

。

üæ�¬×ÜØÙ±ÒiJ6¬×ø%�±ÒÌÅ

，
=ÕÖ ºn»CDxyø%�±Ò$

Ｐ
05

ÓÔß�Q

，
��=µS9»>xØÙ±Ò$

Ｐ
0>5ÓÔß�Q

。

$ÚÛÙ��

Ｐ
0�MJ

ｘ
>v [ÜJ

ｄｘ
5ÆÜ¶

，
~*±Ò

ｄＩ＝Ｉａｄｘ，6ÕÖ ºnâ∮Ｂ→·ｄＩ→ ＝
７１
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μ０∑ＩR：ｄＩ$Ｐ05ÓÔß�QJ

　　ｄＢ＝
μ０ｄＩ
２πｘ

＝
μ０
２πｘ

Ｉ
ａｄｘ，@b¿%Ë¢bÌ

EÇÆÜ¶$

Ｐ
05

ｄＢ→
5@b�È

，
6µS9»R

Ｐ
05ÓÔß�QJ

Ｂ＝∫
ｄ＋ａ

ｄ

μ０
２πｘ

Ｉ
ａｄｘ＝

μ０Ｉ
２πａ
ｌｎｄ＋ａｄ ，

@b¿%Ë¢bÌ

!")32

　
IJKC

（
*

）

１． １
ε０μ０ｖ

２

２．Ｄ
３．Ａ
４．Ａ

５．
=ÕÖnâ

ｄＦ→
CD

。

$

ａｂ
�M

ａ
A

ｌ
>v [±Ò�

Ｉ２ｄｌ
→
，
34�_

。
6ÕÖ ºn»∮Ｂ→·ｄｌ→ ＝μ０∑ＩR：¬×Ü%

�±Ò$w±Ò�>5ÓÔß�QJ

Ｂ＝
μ０Ｉ１

２πｄ＋ｌ槡２( )２
，
@b¿%Ë¢bÌ

6ÕÖnâRw±Ò�5¦§J

ｄＦ＝Ｉ２ｄｌ
μ０Ｉ１

２πｄ＋ｌ槡２( )２
ｓｉｎ９０°＝

μ０Ｉ１Ｉ２

２πｄ＋ｌ槡２( )２
ｄｌ

@b¿%7

ａｂ
?�b�

，
34�_

。

]¥

ａｂ
?��Ç>±Ò�5¦§9

：
Ç±Ò�5¦§@b�È

。

6µS9»R

，ａｂ
5¦§J

　　　　Ｆ＝∫ｄＦ＝∫
Ｌ

０

μ０Ｉ１Ｉ２

２πｄ＋ｌ槡２( )２
ｄｌ＝槡

２μ０Ｉ１Ｉ２
２π

ｌｎ
ｄ＋槡２２Ｌ

ｄ

槡＝４２×１０
－５ｌｎ１０≈１．３×１０－４（Ｎ）

@b¿%7

ａｂ
?�b�

。

!"*3

　
KGH

１．
ÝÓ/

，
ÞÓ/

，
ßÓ/

２．
àÓ

，
áâ§

３．Ｂ
４．Ｃ
５．

=ÕÖ ºn»CD

。

E±ÒV*¸��]½V¾

，
~¹D5Ó³V».*¸��\V¾

；
Ó§�#[Ì]½$¿%7�

�5N¢�ãy��J*¸5È¸s

，
�s»���M´>5ÓÔß�Q5q���

，
@b�±ÒäÅ

*ÑåZ�)

。

}³0$?.æç¢L{Ó§�@bÁ�ÁJ

ｒ
5È¸sZTº

，
GTº�Ç0>5

Ｈ→（
{

Ｂ→）
5W

`��

，
@be�w>ÜQ�

ｄｌ→
5@b�È

。

８１
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Ｈ→
{ÉTº5 ÒJ

∮Ｈ→·ｄｌ→ ＝∮Ｈｄｌｃｏｓ０°＝Ｈ∮ｄｌ＝Ｈ２πｒ
TºÄi5±ÒJ

：

c

ｒ≤Ｒ１H，∑Ｉ＝ Ｉ
πＲ２１
πｒ２；

c

Ｒ１＜ｒ＜Ｒ２H，∑Ｉ＝Ｉ；
c

ｒ≥Ｒ２H，∑Ｉ＝Ｉ。
6ÕÖ ºn»∮ｌＨ→·ｄｌ→ ＝∑Ｉ，Ｂ→ ＝μＨ→ R

：

c

ｒ≤Ｒ１H，Ｈ·２πｒ＝
Ｉ
πＲ２１
πｒ２

　　　　　Ｈ＝ Ｉｒ
２πＲ２１

，Ｂ＝μ０Ｈ＝
μ０Ｉｒ
２πＲ２１

c

Ｒ１＜ｒ＜Ｒ２H，Ｈ·２πｒ＝Ｉ，

　　　　　Ｈ＝ Ｉ２πｒ
，Ｂ＝μＨ＝μＩ２πｒ

c

ｒ≥Ｒ２H，Ｈ·２πｒ＝Ｉ，

　　　　　Ｈ＝ Ｉ２πｒ
，Ｂ＝μ０Ｈ＝

μ０Ｉ
２πｒ

\<�=∮ｌＢ→·ｄｌ→ ＝μ∑Ｉ、Ｂ→ ＝μＨ→ BCD

。

!"*3#

　
BKLM

（
#

）

１．１１８ＢωＬ
２，
２
９ＢωＬ

２，
１
６ＢωＬ

２

２．
μ０Ｉｖ
２π
ｌｎ３，Ｎ

３．Ｂ
４．Ｃ
５．

�

ｔ
HI

，
�÷5

ＡＤ
7M%?�J

ｒ，
$�÷*M%?�J

ｘ
> [ÜQJ

ｄｘ
5ÆÜ¢�

，
~¢

�J

ｄＳ＝ａｄｘ，
34�_

，
 ¢�@bJ¿%7Ë¢bÌ

。

6ÕÖ ºn»∮Ｂ→·ｄｌ→ ＝μ０∑ＩR：%�±Ò$

ｘ
>5ÓÔß�QJ

Ｂ＝
μ０Ｉ
２πｘ
，
@b¿%Ë¢bÌ

G|}¢��5Ó|WJ

ｄΦ＝Ｂ
→
·ｄＳ→＝ＢｄＳｃｏｓ０°＝ＢｄＳ＝Ｂａｄｘ＝

μ０Ｉ
２πｘ
ａｄｘ

G|}àû:Z�÷5Ó|WJ

Φ ＝∫ｄΦ ＝∫
ｒ＋ｂ

ｒ

μ０Ｉ
２πｘ
ａｄｘ＝

μ０Ｉａ
２π
ｌｎｒ＋ｂｒ

6Aèá±ÓÔßnâξ＝－ＮｄΦｄｔR，�÷*5Ôß±2;q�J

ξ＝ －ＮｄΦｄｔ ＝ Ｎ
μ０Ｉａ
２π

ｂ
（ｒ＋ｂ）ｒ

ｄｒ
ｄｔ

９１
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c

ｒ＝ｄ、ｄｒｄｔ＝ｖH，ξ＝Ｎ
μ０Ｉａｂｖ

２πｄ（ｄ＋ｂ）
＝３×１０－３（Ｖ）

:Z�÷$b*12}F*

，
|}�÷5Ó|Wh�é

，
6ê\nâ<ëìxÔß±2;5@bJ

ＡＢＣＤＡ，
@bJÞH6

。

!"äA

：
\<æ]/>x:Z�÷5

ＢＣ、ＡＤ
ö7$4_:w52D±2;

，
d��RÅ

。

!"*3)

　
BKLM

（
)

）

１．
íîï§

　
ðZ±³§

　
µ�5Ó³

２．
μ０ｎｋｅＲ
４ｍ ，０

３．Ａ
４．Ｂ
５．

�Tº5ñYª@bJ

ａｂｃｄａ，
GTº�i¢�5@bJ¾%b¿

。

ｔ
HI|}Tº

ａｂｃｄ
5Ó|WJ

Φ＝Ｂ
→
·Ｓ→＝ＢＳｃｏｓ１２０°＝（ｋｔ）（ｌｖｔ）ｃｏｓ１２０°＝－１２ｋｌｖｔ

２

6Aèá±ÓÔßnâR

ξ＝－ｄΦｄｔ＝ｋｌｖｔ，ξ＞０，ξ5@b{

ａｂｃｄａ

!"*3*

　
BKLM

（
*

）

１．
μ０ａ
２π
ｌｎ３，

μ０ａｌｎ３
２π

ｄＩ
ｄｔ

２．１．５×１０８

３．Ａ
４．Ａ

５．
�$ Zå�òL|y±Ò

Ｉ，
6ÕÖ ºn»∮Ｂ→·ｄｌ→ ＝μ０∑Ｉ<>R

：
 LÓÔß�Qq�J

Ｂ＝
μ０ＮＩ
２πｒ

$å�òæç¢�

ｒ
> ¢�

ｄＳ＝ｈｄｒ，
��

ｄＳ→
�

Ｂ→
5@b�È

，

G|}å�òæç¢5Ó|WJ

　　　　　Φ ＝∫Ｂ→·ｄＳ→ ＝∫ＢｄＳｃｏｓ０°
＝∫

ｂ

ａ

μ０ＮＩ
２π( )ｒ（ｈｄｒ）＝

μ０ＮＩｈ
２π
ｌｎｂａ

6oÔ)ðnì

Ｌ＝ΨＩR

Ｌ＝ＮΦＩ＝
μ０Ｎ

２ｈ
２π
ｌｎｂａ

!"*3+

　
BKC BK7

１．４３ＰＦ，３９０ＰＦ

２．０，０，ε０ｃＥ０ｃｏｓωｔ－
ｘ( )ｃ

３．Ｄ
４．Ｃ，Ｃ

０２

!"#$%&'()*+



５．
pst

：
:M±Ò5!/

、
:M±Ò�m?±Ò5�)

，
3fCDµ�5±³�óC5Ó³

。

（１）
±�ô*5:M±Ò�õÙ�5±³5�)J

：Ｉｄ＝
ｄΦＤ
ｄｔ

�±�ôõÙ�5±:M�õÙ�±²5�)J

：Ｄ＝σ、ΦＤ＝ｑ
äõÙ�±²��S±«5�)J

：ｑ＝ＣＵ
�y

Ｉｄ＝
ｄΦＤ
ｄｔ＝

ｄｑ
ｄｔ＝
ｄ（ＣＵ）
ｄｔ ＝ＣｄＵｄｔ

m

Ｃ＝
ε０Ｓ
ｄ＝

ε０πＲ
２

ｄ 、
ｄＵ
ｄｔ＝

ｄ（Ｕ０ｓｉｎωｔ）
ｄｔ ＝Ｕ０ωｃｏｓωｔ，­

Ｉｄ＝
ε０πＲ

２

ｄ Ｕ０ωｃｏｓωｔ

（２）
±�ô*5±ÒÝQ

ｊｄ＝
Ｉｄ
πＲ２
＝
ε０
ｄＵ０ωｃｏｓωｔ

øù,±Ò5Ê1.

，
?�*5±Ò�Q

Ｉ＝Ｉｄ，G?�*5±ÒÝQ

ｊ＝１
πａ２
＝
Ｉｄ
πａ２
＝Ｒ

２

ａ２ｄ
ε０Ｕ０ωｃｏｓωｔ

（３）
=ÕÖ ºn»∮ＬＨ→·ｄｌ→ ＝

ｄΦＤ
ｄｔ ＝∫ＳＤ

→

ｔ
·ｄＳ→

CD

，
m

Ｂ＝μ０Ｈ。

�±�ô*5±³iJOö±³

，
%±³×�$±�ôõÙt�5»Z÷�L

。
Eµ�5±³øó

CÓ³

，
GöõÙt�µ�5±³

（
{öõÙt�5:M±Ò

）
óC5Ó³VöõÙ*¸Ê�j³�V¾

.

。
Ó§�@ba±Ò@bt�ùú*ÑåZnG

。

$>7±�ô*%NY7±�ôõÙ5N¢L

，
yöõÙ*¸Ê�Js¸

、
{Ó§�@bÁ�¸J

ｒ（ｒ≤Ｒ）5sZTº

，
GsZTº�i¢�5@b�±³@b�È

。

G±�ô*5±:M|WJ

ΦＤ ＝∫Ｄ→·ｄＳ→ ＝∫ＤｄＳｃｏｓ０°＝∫ＤｄＳ＝Ｄ∫ｄＳ＝Ｄ·πｒ２

G

　
ｄΦＤ
ｄｔ＝

ｄＤ
ｄｔ·πｒ

２

6ÕÖ ºn»∮ＬＨ→·ｄｌ→ ＝
ｄΦＤ
ｄｔ ＝∫ＳＤ

→

ｔ
·ｄＳ→、Ｂ＝μ０ＨR

Ｂ
μ０
·２πｒ＝ｄＤｄｔ·πｒ

２

m

ｄＤ
ｄｔ＝ｊｄ＝

ε０
ｄＵ０ωｃｏｓωｔ，�y

Ｂ＝１２ｄｒμ０ε０Ｕ０ωｃｏｓωｔ

!"*3,

　
N&OP

（
#

）

１．±１８０００?，±６π
２．

¶û]½$ü

Ｅ
�Ö

ＯＰ
t�

，
Gý]½�9BÏþ

３．Ｂ
４．Ａ

５．
6ÿ!�"#$Gý¶û*¸:w´[

ｘ＝２ｋＤｄ
λ
２、ｘ＝（２ｋ＋１）

Ｄ
ｄ
λ
２R：¶û�MJ

１２

!"#$%&'()*+



Δｘ＝Ｄｄλ

λ＝ｄΔｘＤ ＝
０．６×１０－３×２．２７×１０－３

２．５ ≈５．４５×１０－７（ｍ）＝５４５（ｎｍ）＝５４５０（?）

!"*3/

　
N&OP

（
)

）

１．９．９６×１０－８ｍ

２．λ４，Ｎ
λ
２

３．Ａ
４．Ｂ

５．（１）
V%&#$

，
ÙÚã�'#$

。
G¶ûßùú

：２ｅｋ＋
λ
２＝ｋλ；（V÷�

，
 

ｎ＝１）

�(¶û�)

ｌ
�*Q�)ùú

：ｌｓｉｎθ＝ｅｋ＋１－ｅｋ＝
１
２ （ｋ＋１）λ－

λ[ ]２ －１２ ｋλ－
λ[ ]２ ＝λ２，

G

ｓｉｎθ＝λ２ｌ，mｔａｎθ＝
ｄ
Ｌ，6ｓｉｎθ≈ｔａｎθR：

λ
２ｌ＝

ｄ
Ｌ，úR

ｄ＝Ｌλ２ｌ＝
０．０４×５８９０×１０－１０

２×０．１×１０－３
＝１．１７８×１０－４（ｍ）＝０．１１７８（ｍｍ）

（２）
$%&*Ö

，
#$¶ûb°M2öû¶û

，
+G$É>*Q�S`

２×λ２，E%&�^¢®#$

,-θ®µkl¿5NM

，
�yøùöû%&Ô&Z5�Â�)<9

：
ÚÛ%Á>*Q�S`

４×λ２，×

Δｄ＝２λ＝２×５８９０＝１．１７８×１０－６（ｍ）＝１．１７８（μｍ）

!"*30

　
N&QR

（
#

）

１．５λ２，５

２．０．２５ｍ
３．Ｄ
４．Ｂ

５．
V�".�

，
c

Ｐ
0JG¶û

，
Gùú¶·

：ａｓｉｎφ＝（２ｋ＋１）λ２。

�

Ｐ
0M*/Gû*¸J

ｘ，
G

ｘ＝ｆｔａｎφ≈ｆｓｉｎφ
6�¢ö[R

ａｘｆ＝（２ｋ＋１）
λ
２

�y

ｋ＝ａｘｆλ
－１２＝

０．６×１０－３×１．４×１０－３

４０×１０－２λ
－１２

$<S'hi

３９００～７６００?，
>R

ｋ̀
hiJ

２．３～４．８８，
E

ｋ
$é àð

，
�y

ｋ＝３　
{

　ｋ＝４
ÍÎ

：

c

ｋ＝３
H

，λ３＝６０００?，Vß�

Ｐ
0Ä0"5p1¢<]J

２ｋ＋１＝７
û�p·

；

c

ｋ＝４
H

，λ４＝４６６７?，Vß�

Ｐ
0Ä0"5p1¢<]J

２ｋ＋１＝９
û�p·

。

２２

!"#$%&'()*+



!"*31

　
N&QR

（
)

）

１．５０００?，２
２．１．３４×１０－４ｒａｄ，８．９４ｋｍ
３．Ａ
４．Ｃ
５．（１）

��(G¶û52ð]/J

ｋ、ｋ＋１，
Vß5.�&]/Jφｋ、φｋ＋１。

6'3.�Gû¶·´[

（ａ＋ｂ）ｓｉｎφ＝ｋλR

（ａ＋ｂ）ｓｉｎφｋ＝ｋλ，（ａ＋ｂ）ｓｉｎφｋ＋１＝（ｋ＋１）λ
ö[��R

：（ａ＋ｂ）（ｓｉｎφｋ＋１－ｓｉｎφｋ）＝λ

'34ðJ

　ａ＋ｂ＝ λ
ｓｉｎφｋ＋１－ｓｉｎφｋ

＝６０００×１０
－１０

０．３－０．２ ＝６×１０
－６（ｍ）

ö[�qR

：
ｋ
ｋ＋１＝

ｓｉｎφｋ
ｓｉｎφｋ＋１

＝０．２０．３，úR

ｋ＝２

<9

：
895�(öG¶û52ð]/Já

２
2

、
á

３
2

。

（２）
67á¤252

，
GßÈHùú'3.�Gû¶·´[

（ａ＋ｂ）ｓｉｎφ＝ｋλ、�".�5ýû¶·

´[

ａｓｉｎφ＝２ｋ′λ２，G³

（ａ＋ｂ）ｓｉｎφ＝４λ，ａｓｉｎφ＝ｋ′λ

ö[�qR

：
ａ
ａ＋ｂ＝

ｋ′
４

c

ｋ′
H

，ａ
JÒ�

，ａ＝ａ＋ｂ４ ＝１．５×１０－６（ｍ）

（３）
6

（ａ＋ｂ）ｓｉｎφ＝ｋλ<9

：
.�&]q

，
.�¶û2ð]£

。

.�&Òq`J

９０°，
Æφ＝９０°H5¶ûOP�#Ä®�5

。

�¶û5Ò£2ðJ

ｋｍａｘ，G
ｋｍａｘλ＝（ａ＋ｂ）ｓｉｎφｍａｘ＜（ａ＋ｂ）ｓｉｎ９０°

ｋｍａｘ＜
（ａ＋ｂ）ｓｉｎ９０°

λ
ｋｍａｘ＜１０， ｋｍａｘ＝９

~*³52

。

¿¢ÍÎ52

：
c'3.�ùúGû¶·

，
m�".�ùúýû¶·

，
'3.�¶ûÞøx652

。

（ａ＋ｂ）ｓｉｎφ＝ｋλ，ａｓｉｎφ＝ｋ′λ

ö[�qR

：
ｋ′
ｋ＝

ａ
ａ＋ｂ＝

１
４

c

ｋ′＝±１、±２、±３…
H

，ｋ＝±４、±８、±１２…，
á

４、８
252

，

G<78�R¶û2ðJ

ｋ＝０、±１、±２、±３、±５、±６、±７、±９
9

８
2

１５
¶

。

!"*32

　
N&S6

１．
�:�

，
�È

，
�È

２．９４Ｉ

３．Ａ
４．Ｃ
５．（１）

�Ð�&a:�&]/J

ｉ、γ，÷�a;<5:�ñ]/J

ｎ１、ｎ２。
３２

!"#$%&'()*+



67ã�'#�=J'

，
GÐ�&ùú½>¼®nâ

ｔａｎｉ＝
ｎ２
ｎ１

ｎ１ｓｉｎｉ＝ｎ２ｃｏｓｉ
ä6:�nâR

：ｎ１ｓｉｎｉ＝ｎ２ｓｉｎγ
6�¢ö[R

：ｓｉｎγ＝ｃｏｓｉ
γ＝９０°－ｉ
γ＝９０°－５８°＝３２°

（２）
6½>¼®nâ

ｔａｎｉ＝
ｎ２
ｎ１
R

：ｎ２＝ｎ１ｔａｎｉ＝１×ｔａｎ５８°＝１．６

!"+3

　
TUVW;

（
#

）

１．９３ｍ，１０ｍ，０，２．５×１０－７ｓ
２．１２ｍ，４ｓ
３．Ａ
４．Ｃ
５．

üæ�

Ａ、Ｂ
ö?·5H÷'(z89ðù@Å¿^

。

Ｓ
)*

Ｓ′
)*

Ａ
?·

ｘＡ＝？、ｔＡ＝？ ｘ′Ａ＝？、ｔ′Ａ＝？

Ｂ
?·

ｘＢ＝？、ｔＢ＝？ ｘ′Ｂ＝？、ｔ′Ｂ＝？

H÷'(g

ｘＡ－ｘＢ＝２×１０
３、ｔＡ－ｔＢ＝０ ｘ′Ａ－ｘ′Ｂ＝？、｜ｔ′Ａ－ｔ′Ｂ｜＝５×１０

－６

6"V9

：
$

Ｓ
)*

，ｔＡ－ｔＢ＝０，ｘＡ－ｘＢ＝２×１０
３ｍ；Ｓ′

)�V

Ｓ
){

ｘ
ª@b12

；
$

Ｓ′
)*

｜ｔ′Ａ－
ｔ′Ｂ｜＝５×１０

－６ｓ。

6

ｘ′＝ ｘ－ｕｔ

１－ｕ
２

ｃ槡 ２

R

：
$

Ｓ′
)*ö?·5÷��)J

ｘ′Ａ－ｘ′Ｂ＝
（ｘＡ－ｕｔＡ）－（ｘＢ－ｕｔＢ）

１－ｕ
２

ｃ槡 ２

＝
ｘＡ－ｘＢ

１－ｕ
２

ｃ槡 ２

V�[ uV`

，
³

｜ｘ′Ａ－ｘ′Ｂ｜＝
｜ｘＡ－ｘＢ｜

１－ｕ
２

ｃ槡 ２

①

3é9A

ｕ，
Þ<CDx

Ｓ′
)*ö?·5÷��)

｜ｘ′Ａ－ｘ′Ｂ｜。

�6

ｔ′＝
ｔ－ｕ
ｃ２
ｘ

１－ｕ
２

ｃ槡 ２

R

：
$

Ｓ′
)*ö?·5H��)J

ｔ′Ａ－ｔ′Ｂ＝
ｔＡ－ｔＢ－

ｕ
ｃ２
（ｘＡ－ｘＢ）

１－ｕ
２

ｃ槡 ２

＝
－ｕ
ｃ２
（ｘＡ－ｘＢ）

１－ｕ
２

ｃ槡 ２

②

４２

!"#$%&'()*+



67

ｘＡ－ｘＢ＝２×１０
３ｍ，

9

ｔ′Ａ－ｔ′Ｂ＜０，Ａ?·æCD

。

V②[ uV`

，
³

｜ｔ′Ａ－ｔ′Ｂ｜＝

ｕ
ｃ２
（ｘＡ－ｘＢ）

１－ｕ
２

ｃ槡 ２

èÐðùR

：５×１０－６＝

ｕ
ｃ２
·（２×１０３）

１－ｕ
２

ｃ槡 ２

，
úR

ｕ＝０．６ｃ。

6①[R$

Ｓ′
)*ö?·5÷��)J

：｜ｘ′Ａ－ｘ′Ｂ｜＝
｜ｘＡ－ｘＢ｜

１－ｕ
２

ｃ槡 ２

＝ ２×１０
３

１－０．６槡
２
＝２．５×１０３（ｍ）。

Ò�pst

：
J§¨®=ÜQµþ

ｌ＝ｌ０ １－ｕ
２

ｃ槡 ２aH�µþ

ｔ＝ τ

１－ｕ
２

ｃ槡 ２

BCD÷��)aH��)

。

!"+3#

　
TUVW;

（
)

）

１．ｍ＝
ｍ０

１－ｖ
２

ｃ槡 ２

，Ｐ→ ＝ｍｖ→＝
ｍ０ｖ
→

１－ｖ
２

ｃ槡 ２

，Ｅｋ＝ｍｃ
２－ｍ０ｃ

２＝ｍ０ｃ
２（

１

１－ｖ
２

ｃ槡 ２

－１），Ｅ＝ｍｃ２＝
ｍ０ｃ

２

１－ｖ
２

ｃ槡 ２

２．７５ｍ３，１５０ｋｇ，２ｋｇ／ｍ３

３．Ｃ
４．Ａ

５．
62én»

Ａ＝Ｅｋ２－Ｅｋ１、2é

Ｅｋ＝ｍｃ
２－ｍ０ｃ

２、
/é´[

Ｅ＝ｍｃ２＝
ｍ０ｃ

２

１－ｖ
２

ｃ槡 ２

R

，
B±=5Pñ�

ｖ１＝０．６ｃSP�

ｖ２＝０．８ｃ，CÁë

　　　　Ａ＝Ｅｋ２－Ｅｋ１＝（ｍ２ｃ
２－ｍ０ｃ

２）－（ｍ１ｃ
２－ｍ０ｃ

２）＝ｍ２ｃ
２－ｍ１ｃ

２

＝
ｍ０ｃ

２

１－
ｖ２( )ｃ槡

２
－

ｍ０ｃ
２

１－
ｖ１( )ｃ槡

２
＝

ｍ０ｃ
２

１－０．８槡
２
－

ｍ０ｃ
２

１－０．６槡
２
＝５１２ｍ０ｃ

２

±=PñJ

ｖ２＝０．８ｃH，_5/Wa2W]/#

：

ｍ＝
ｍ０

１－
ｖ２
２

ｃ槡 ２

＝
ｍ０
１－０．８槡

２
＝
ｍ０
０．６＝

５
３ｍ０

Ｐ＝ｍｖ２＝
５
３ｍ０×０．８ｃ＝

４
３ｍ０ｃ

!"+3)

　
XY?@<=

（
#

）

１．
D.E�]=

、
9=5J2<ÄÁIJ=

，
~�IJ=<yC�a¡¦E�é

，
�ai5±Ó³

FþéW

；

~�IJ=$é>7y�]@534

，
$~�34*

，
IJ=5éWã®Û¸G-»��HÊ5<

５２

!"#$%&'()*+



 vU`

，
$é [�´I5`

，
~�´I5`#y[Ò�éW ε（ε¾JéW=

）
5àðJ

，
× ε，２ε，

３ε，…，ｎε，…，ｎJªàð

，
¾JW=ð

。
V7cñJν5IJ=B+

，
Ò�éWJε＝ｈν，[*

ｈ
JK

LM4ð

２．ｈν
ｃ２
、
ｈν
ｃ、ｈν

３．Ｃ
４．Ａ，Ｃ
５．

®µ

　
�S

　
�S

６．Ｂ，Ｄ
７．（１）０．０３３?，３．８×１０４ｅＶ；（２）０．０４３?，６２．３°。
（１）

I�'=5pÜ

　　　　　　　　λ＝λ０＋Δλ＝λ０＋
２ｈ
ｍ０ｃ
ｓｉｎ２φ２

＝０．０３×１０－１０＋ ２×６．６３×１０－３４

９．１×１０－３１×３×１０８
×ｓｉｎ２１５°＝０．０３３×１０－１０（ｍ）

6éW()R

：
ãN±=52é

　　　　Ｅｋ＝ｈν０－ｈν＝ｈｃ
１
λ０
－１( )λ ＝６．６３×１０－３４×３×１０８ １

０．０３×１０－１０
－ １
０．０３３×１０( )－１０

＝６．０３×１０－１５（Ｊ）＝３．８×１０４（ｅＶ）
（２）

6éW()³

：Ｅｋ＝ｍｃ
２－ｍ０ｃ

２＝ｈν０－ｈν
ｍ０
１－０．６槡

２
ｃ２－ｍ０ｃ

２＝ｈｃ１λ０
－１( )λ

０．２５ｍ０ｃ
２＝ｈｃ１λ０

－１( )λ
１
λ
＝１
λ０
－
０．２５ｍ０ｃ

２

ｈ ＝ １
０．０３×１０－１０

－０．２５×９．１×１０
－３１×３×１０８

６．６３×１０－３４
＝２．３２×１０１１（ｍ－１）

λ＝０．０４３×１０－１０（ｍ）

6Δλ＝２ｈｍ０ｃ
ｓｉｎ２φ２R

ｓｉｎ２φ２＝
Δλｍ０ｃ
２ｈ ＝０．０１３×１０

－１０×９．１×１０－３１×３×１０８

２×６．６３×１０－３４
＝０．２６７６

ｓｉｎφ２＝０．５１７３

φ＝６２．３°

!"+3*

　
XY?@<=

（
)

）

１．Ｅ＝ｍｃ２＝ｈν，Ｐ＝ｍｖ＝＝ｈλ
２．４．４×１０－３５ｍ
３．０．５８ｍ／ｓ
４．９ｒ１，３，６
５．Ｄ
６．Ｃ
７．λ＝１０２８?，Û7OP)

；λ＝６５８１?，Û7QªR)

；λ＝１２１９?，Û7OP)

。

�=éWJ

１２．６ｅＶ
5±=STU4

（ｎ＝１）
5V9=

，
eV9=ó�5Ò£é2J

ｎ，
G

－１３．５８
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